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 ORTVNTI, 797 GITBITAIES u HIES v FCOHEESE do(u, v) L9 5.
1. ¥ 1 DR 727 G # /LT, ZRWIZEZ L.

(1) Gt DRNKENZIH>TTA—7 Wi ZRLakL7eE0,

72720, Gi=(W, C, E), Vi={1,2,3,4,5,6),Ci=1{a, b,c,d e,f g hil, El =
{({1, 2}, @), ({1, 4}, b), ({1, 6}, <), ({2, 3}, d), ({2, 5}, e), ({3, 4}, /), ({3, 6}, 8),
({4, 5}, h), ({5, 6}, i)}) £9°5. ‘T Og

W=

1. 8757 G

Q) moES =

2. X2 DER 7T 7 G RT, HWICEZ L.

(1) dex(1, 6) =

Q) dax(1,7) =

B)A={xec VG) |deaT,x) =2} ETHLEX, AZEAINTTHE.

A=
2 MW\ 7T Ga

3. /M E T T T R E T .
(1) 777 Gs = ({1, 2, 3, 4}, {(1, 2), (2, 3), (2, 4)}) DEm IS T~

(2) M(Gs) = {1,2,3,4},des(1,4) =2, des(2, 3) =2, d64(3, 2) = 1, dea(4, 1) = 3 ZH 12T AWM T7 Ga .
EZIT2 0.



